

53162 Pontiac Trail, Suite A, Milford, MI 48381 (248) 684-0935 Phone / (248) 685-2980 Fax

August 8, 2007

Mr. Paul Shumejko City of Rochester Hills 1000 Rochester Hills Dr. Rochester Hills, MI 48309

RE.

Shadow Woods Subdivision Street Rehabilitation

City File #E06-023 Additional Work

Dear Mr. Shumejko

C&G Myers is submitting the attached quotes for additional work as requested. The attached quotes are for work at the Stoney Creek Van Hossen Cemetery, Rochester Hills Fire Station #5 and Rochester Hills Clinton River Trail Lot.

Upon your review please create a change order for the additional work. If you have any questions, please feel free to contact me.

Sincerely,

Robert Hallerman

Project Manager

C & G Myers Construction

53162 Pontiac Trail, Ste.A Milford Michigan 48381 Contact: Robert Hallerman Phone: 248248-684-0935

Fax: 248-684-2980

Quote To:

City of Rochester Hills

Paul G. Shumejko, P.E. PTOE

Job Name:

Stoney Creek Van Hossen Cemetery

Phone: Fax: Date of Plans: Revision Date:

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
10	Station Grading	700.00	LFT	27.50	19,250.00
20	1.5" HMA, 3C	130.00	TON	62,50	8,125.00
	1.5" HMA, 13A	. 130.00	TON	63.50	\$,255.00
40	Haul & Dispose of Excay Spoils	400.00	CYD	8.99	3,596.00

GRAND TOTAL \$39,226.00

NOTES:

Excludes: Permits, Fees, Inspection, Testing, Layout, Engineering, Restoration, Landscaping, Utilities

Proposal is based on completion while Shadow Woods Subdivision work is in progress. If acceptence and notice to proceed with this work is received after completion of removals and base work at Powderhorn Ridge then additional compensation will be needed for importing / trucking of RAP materials.

Proposal includes only items listed, no other work is to be implied or inferred as incidental.

C & G Myers Construction

53162 Pontiac Trail, Stc.C

Milford, MI. 48381

Contact: Robert Hallerman

Phone: 248-684-0935 Fax: 248-685-2980

Quote To:

City of Rochester Hills

Paul G. Schumejko, F.E. PTOE

Job Name: Date of Plans:

Revision Date:

Rochester Hills Fire Station #5

Phone: Fax:

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
10	Pulverize,Crush & Shape Exist HMA	1,550,00	SYD	4.85	7,517.50
20	Adj Drainage Structure	00.1	ĒΑ	675.00	675.00
30	2" HMA, 3C	200.00	TONS	69.75	13,950.00
40	2" HMA, 4C	200.00	TONS	71.00	14,200.00
50	Pavm't Marking 4" White	320.00	LFT	0.84	268.80
	Pavm't Marking 4" Blue	40.00	LFT	3.30	132.00
70	Haul & Dispose of Contaminated Soils	25.00	CYD	36.20	905.00
	Handling Imported Materials (as reqd).		TCY	2.00	

NOTES:

GRAND TOTAL

Excludes: Permits, Fees, Dues, Testing, Inspection, Engineering, Layout, Restoration & Landscaping

Proposal includes only items listed, no other work is to be implied or inferred as incidental.

Proposal is contingent upon work being completed while Shadow Woods Subdivision base work is in progress. If acceptence or notice to proceed is received after this point additional compensation will be required for importing RAP base material.

\$37,648.30

C & G Myers Construction

53162 Pontiac Trail, Ste. A

Milford, MI. 48381

Contact: Robert Hallerman

Phone: 248-684-0935 Fax: 248-685-2980

Ouote To:

City of Rochester Hills

Paul G. Schumiko, P.E. PTOE

Job Name:

Rochester Hills Clinton River Trail Lot

Phone:

Date of Plans: Revision Date:

125.00 125.00	TON	75.00 73.00	9,375.00 9,125.00
125.00	TON	72.00	0.104.00
	TON	/3.00	5,123.00
9.00	STA	845.00	7,605.00
4,200.00	SFT	0.90	3,780.00

GRAND TOTAL

\$29,885.00

NOTES:

Excludes: Permits, Fees, Dues, Testing, Inspection, Engineering, Layout, Restoration and Landscaping.

Proposal includes only items listed, no other work is to be implied or inferred as incidental.

Proposal is contingent upon completion while base work and removals are in progress at Shadow Woods Subdivision project. If acceptence or notice to proceed is given after this point than additional compensation will be required for importing RAP base materials.